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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

1. y"turl=uoNtlwmthk gtJ‡;& åátøt& mbt"ugt& ;uMw yJÎgbuJ g:uÂA åátø≈gÙg W˙thk mkÙf]U;CtMtgtk =uJltdhr÷tÀgt a

å=ugbT> 2×5=10

Group-A

(rfUht;tswolegu)

åátø≈gk mbt"ugbT> 2×2=4

(I) Jluah& gwr"r≤hk fUe=]Nek JtabfU:g;T?

(II) I;JtlwCtJtu~gbTO R¿gÙg mkr"rJÂAu=& rJ"ug&>

(III) IIvhir; fUtÎgo k gNmt mbk Jvw&OO_ R¿gÙg Jt¢gÙg fU& y:o&? fUrÙblT åmkdu YMt Wr¢;& rJrn;t?

Group-B

(fwUbthmkCJu)

åátø≈gk mbt"ugbT& 2×2=4

(I) vtJo¿gt& ;vÎah„tÙg Ù:tlk fUe=]Nbtme;T?

(II) IIrJJuN fUrÎaôtrx÷tÙ;vtuJlbTOO_ fU& rJJuN? m a fUe=]dT=NolbT ytme;T?

(III) II;JtlwJ]r˙tk l a fU;wobw¿mnuOO_ fU& fU:k fUÙgt& ylwJ]r˙tk fU;wobT ylw¿mtrn;& cCqJ?

Group-C

(A‡=tubksgtobT)

YfU& åátø& mbt"ug& 2×1=2

(I) R‡äJs{t-A‡=m& ÷tG„tk r÷tœg;tbT>

(II) A‡=tubksheblwm]¿g dwhtu& ÷tG„tk å=ugbT>
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2. y"turl=uoNtlwmthk gtJ‡;& åátøt& mbt"ugt& ;uMtk mbuMtbT YJ W˙thk mkÙf]U;CtMtgtk =uJltdhr÷tÀgt a ÷tuœgbT>

Group-A

(rfUht;tswolegu)

YfUÙg Î÷ttufUÙg ‘gtœgt fUtgto> 5×1=5

(I) rf{Ugtmw gw¢;il]ov athaGwMtu l JΩtlegt& åCJtu~lwserJrC&>

y;tu~norm G‡;wbmt"w mt"w Jt rn;k bltuntrh a =w÷toCk Ja&>>

(II) rJntg Ntr‡;k l]v "tb ;;T vwl& åme= mk"urn J"tg rJr≈MtbT>

J{sr‡; N∫tqlJ"qg rl&Ùv]nt& Nbul rmrık bwlgtu l CqC];&>>

Group-B

(fwUbthmkCJu)

YfUÙg Î÷ttufUÙg ‘gtœgt fUh„tegt> 5×1=5

(I) ;:t mbGk =n;t bltuCJk rvltrfUlt C…lbltuh:t m;e>

rlrl‡= ¡vk Ü=gul vtJo;e råguMw mtiCt…gVU÷tt rn ath•;t>>

(II) WJta ailk vhbt:o;tu nhk l Jur¿m lqlk g; YJbt¿: btbT>

y÷ttufUmtbt‡gbra‡¿gnu;wfkU r≈Mr‡; b‡=tÎarh;k bnt¿bltbT>>

Group-C

(A‡=tubºtgtobT)

(I) YfUbtr∂¿g xefUt ÷tuœgt> 5×1=5

(a) ãtdT"ht

(b) äw;rJ÷trˆc;bT

(II) y"turlr=o≥uMw g:uÂAk ≈gÙg A‡=turl¡v„tk fUtgobT 2½×2=5

(a) rfUrbJ rn b"wht„ttk b„zlk ltf]U;eltbT>

(b) åJ;o;tk åf]Ur;rn;tg vtr:oJ&>

(c) ÷ttufUtu rlgˆg; RJiM =Nt‡;huMw>

(d) bb rJhnstk l ¿Jk J¿mu Nwak d„trgÌgrm

3. y"tur÷trF;uMw YfUÙg åátøÙg W˙thk ÷tuœgbT>   10×1=10

(a) gwr"r≤hk år; ätivët& CtM„tk J„go;tbT>

(b) vtJo;ek år; c{—atrh„t& rs“ttmt yt÷ttualegt>

(c) rfUht;tswolegÙg å:bmdoÙg rJMgJÙ;w r÷tœg;tbT>
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